
 

 

 
 

𝑴 = (−𝟐)(−)(+𝟑)(−𝟓)(+𝟏) ÷ (−𝟖) 

𝑵 = [(+𝟑) + (−𝟓)](−𝟑) ÷ (+𝟐) 

 : 

1-  

2-  

3- 

𝐴  B   𝐶    𝐷    

 𝑨 =  
−𝟐

𝟓
        ،𝑩 =  

−𝟑

𝟒
        ،   𝑪 =  

𝟕

𝟑
     ،         𝑫 =  

𝟐

𝟐,𝟓
     . 

*   𝑨 + 𝑩     ،  𝑫 − 𝑪     ،   𝑨 × 𝑪      ،
𝑩

𝑪
 

1/ABCF ACBFD 

GFA

2/      ( )AD      //( )GB  . 

3    2BG AD= . 

4   AFC      وABG . 

5L    ( )FC    و( )GB 

C    FL .  

 

       

  متوسط  3  ختبار الفصل الأول لامراجعة  الطالب: 



 

 

𝐴600 𝑚

𝐴𝐶 = 150 𝑚𝐴𝐵 = 200 𝑚

1𝐶𝐵

2𝐸𝐹

(𝑨𝑪)//(𝑬𝑭)

 

𝐸𝐵 𝐸𝐹

𝐵𝐹 = 50 𝑚

𝐹𝐸𝐵

 


